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Question Number : 1 Question Id : 3016983094 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following disorder occurs due to the deficiency of galactose - | - phosphate
uridyltransferase?

1. Galactosaemia

-2

. Harmochromatosis

L

. Wilson's Disease

4. Reye's Syndrome
Options :



30169812301. 1
30169812302. 2
30169812303. 3
30169812304. 4

Question Number : 1 Question Id : 3016983094 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

30169812301. 1
30169812302. 2
30169812303. 3
30169812304. 4

]

Question Number : 2 Question Id : 3016983095 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following test is used to differentiate Staphviococcus aureus from other
Staphylococcus species.

1. Catalase Test

-2

. Oxidase Test
3. Coagulase Test

4. Urease Test
Options :
30169812305. 1
30169812306. 2
30169812307. 3
30169812308. 4

Question Number : 2 Question Id : 3016983095 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

30169812305. 1
30169812306. 2
30169812307. 3
30169812308. 4

)
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Question Number : 3 Question Id : 3016983096 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
At which week of Pregnacy human chronic gonadotropin (hCG) is at peak?

1.30- 41 weeks

| ]

. 8- 12 weeks
3. 13- 16 weeks

4. 17 - 29 weeks
Options :
30169812309. 1
30169812310. 2
30169812311. 3
30169812312. 4

Question Number : 3 Question Id : 3016983096 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

30169812309. 1
30169812310. 2



30169812311. 3
30169812312. 4

Question Number : 4 Question Id : 3016983097 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The tumor of sweat gland is:

l. Eccrine Tumor

(]

. Dermatofibroma

L

. Pleomorphic Sarcoma

4. Mycosis Fungoides
Options :
30169812313. 1
30169812314. 2
30169812315. 3
30169812316. 4

Question Number : 4 Question Id : 3016983097 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
30169812313. 1
30169812314.2
30169812315. 3
30169812316. 4
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Question Number : 5 Question Id : 3016983098 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



During healing of skin wounds, the sequence of events occurring during healing by second
Intention (secondary union) are :

A. Inflammatory phase
B. Initial hemorrhage
C. Granulation Issue
D. Wound Contraction
E. Epithelial Changes

Choose the correct answer from the options given below:

.85 €.D

(£

.B,E,A,C,D
3B A GDE

4. B,A,C,E.D
Options :
30169812317. 1
30169812318. 2
30169812319. 3
30169812320. 4

Question Number : 5 Question Id : 3016983098 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
30169812317. 1
30169812318. 2
30169812319. 3
30169812320. 4



Question Number : 6 Question Id : 3016983099 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Rheumatic heart disease, which valve has highest probability of deformation?

1. Mitral

2. Aortic

L

. Tricuspid

4. Pulmonary
Options :
30169812321. 1
30169812322.2
30169812323. 3
30169812324. 4

Question Number : 6 Question Id : 3016983099 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

30169812321. 1
30169812322.2
30169812323. 3
30169812324. 4

-2

Question Number : 7 Question Id : 3016983100 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the correct sequence of stages of mitosis:

A. Metaphase
B. Anaphase
C. Prophase
D. Interphase
E. Telophase

Choose the correct answer from the options given below:

L. AB, C.DE

t-2

.E,B,C,A,D
3D C.BAE

4.D,C,A,B,E
Options :
30169812325. 1
30169812326. 2
30169812327. 3
30169812328. 4

Question Number : 7 Question Id : 3016983100 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
30169812325. 1
30169812326. 2
30169812327. 3
30169812328. 4



Question Number : 8 Question Id : 3016983101 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
happens when bleeding occurs due to ruptured blood vessels in brain after a head
mnjury.

1. Intra cranial hemorrhage

2

. Ischemia

L

. Transient Ischemic Attack

4. Cerebral Edema
Options :
30169812329. 1
30169812330.2
30169812331.3
30169812332. 4

Question Number : 8 Question Id : 3016983101 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

30169812329. 1
30169812330. 2
30169812331. 3
30169812332. 4
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Question Number : 9 Question Id : 3016983102 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II.

LIST-1 LIST-1I
A |Parathyroid I. | Gonadotropin
B. |Pancreas II. | Parathormone
C. |Pineal Gland II1. | Insulin
D. |Placenta IV. | Melatonin

Choose the correct answer from the options given below:

lL.A-ILB-IMI,C-IV,D-1I

| ]

A-LB-ILC-IILD-IV

L

A-ILB-ILC-IV,D-1

4 A-IVB-IILC-I.D-1III
Options :
30169812333. 1
30169812334. 2
30169812335.3
30169812336. 4



Question Number : 9 Question Id : 3016983102 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
30169812333. 1
30169812334. 2
30169812335.3
30169812336. 4

Question Number : 10 Question Id : 3016983103 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II.

LIST-I LIST-II
{(Body Movements) {(Description)

Moving a limb away from
A. |Flexion L. |the mid-line. or median
plane of the body

Movement of a lunb

B |Esienaion 1. towards the body midline

Movement that decreases
the angle of joint and
brings two bones close
together

C. | Abduction I11.

Movement that increases
the angle or distance
between two bones of the
body

D. | Adduction IV.

Choose the correct answer from the options given below:

1LA-ILB-IILC-IV,D-1

[

A-IILB-IV.C-1,D-1I

ad

A-LB-ILC-ILLD-IV

4 A-IVB-III,C-II.D-1
Options :
30169812337. 1
30169812338. 2
30169812339. 3
30169812340. 4

Question Number : 10 Question Id : 3016983103 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3.3A-LB-ILC-TILD-1IV

4 A-IVB-III.LC-IILD-1I
Options :
30169812337. 1
30169812338. 2
30169812339. 3
30169812340. 4

Question Number : 11 Question Id : 3016983104 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II.

LIST-I LIST-II

(Species) (Products under development)
A |Cow I. | Antithrombin IT
B.|Goat II. | Insulin
C.|Sheep II1. | Fibrinogen
D. | Chicken IV. | Lactoferrin

Choose the correct answer from the options given below:

LA-IVB-LC-III,D-1I

]

A-IVB-LC-1II,D-1III

LS

A-ILB-NILC-IV,D-1

4 A-II.B-III.C-I.D-1IV
Options :
30169812341. 1
30169812342. 2
30169812343. 3
30169812344. 4

Question Number : 11 Question Id : 3016983104 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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CA-ILB-ILC-IV,D-1

4 A-IILB-ILC-L.D-1IV
Options :
30169812341. 1
30169812342. 2



30169812343. 3
30169812344. 4

Question Number : 12 Question Id : 3016983105 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-I with LIST-II.

LIST-I LIST-1I
(Biomedical Signals) (Source)
A |Electromyogram I. |Pulmonary System
B. |Blood pressure II. | Occular System
C. |Respiratory Parameters III. | Muscular System
D. |Electroculogram IV. | Cardiovascular System

Choose the correct answer from the options given below:

LA-ILB-NIILC-IV.D -1

b2

A-TNLB-LC-I,D-1IV

L

A-MLB-IV,C-1.D-1I

4 A-IIILB-IILC-I.D-1IV
Options :
30169812345. 1
30169812346. 2
30169812347. 3
30169812348. 4

Question Number : 12 Question Id : 3016983105 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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L

CA-NILB-IV.C-LD-1I

4 A-IMILB-ILC-1,D-1V
Options :
30169812345. 1
30169812346. 2
30169812347. 3
30169812348. 4

Question Number : 13 Question Id : 3016983106 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-I with LIST-II.

LIST-I LIST-II
(EEG Signals) (Frequency)
A |Alpha (o) I. |[0.5-4Hz
B.|Gamma (v) II. |4 -8 Hz
C. | Delta (0) III.|8-13Hz
D. | Theta (8) IV.|22-30Hz

Choose the correct answer from the options given below:

LA-IILB-IV.C-I,D-1I

]

A-LB-ILC-TL,D-IV

LN

A-IVB-IIILC-IILD-1I

4 A-IILB-LC-IV,D-1III
Options :
30169812349. 1
30169812350. 2



30169812351. 3
30169812352. 4

Question Number : 13 Question Id : 3016983106 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4 A-IILB-I,C-IV.D-1III
Options :
30169812349. 1
30169812350. 2
30169812351. 3
30169812352. 4

Question Number : 14 Question Id : 3016983107 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Normal wave pattern of ECG wave form is shown in the fig. below. Identify the missing wave
from the wave form.

1. R wave

[

. S wave
3. Q wave

4. P wave
Options :
301698123531
30169812354. 2
30169812355.3
30169812356. 4

Question Number : 14 Question Id : 3016983107 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
30169812353. 1
30169812354.2
30169812355. 3
30169812356. 4



Question Number : 15 Question Id : 3016983108 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Pathogenesis of oedema produces which of the following?

A. Decreased plasma oncotic pressure
B. Increased capillary permeability
C. Increased plasma oncotic pressure
D. Obstruction of lvmphatic drainage
E. Decreased capillary permeability

Choose the correct answer from the options given below:

1. A.Band D only

o]

. C, D and E only
3. A.Dand E only

4. C and E only
Options :
30169812357. 1
30169812358. 2
30169812359. 3
30169812360. 4

Question Number : 15 Question Id : 3016983108 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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30169812359. 3
30169812360. 4

Question Number : 16 Question Id : 3016983109 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which laboratory department tests antigen antibody reactions?

. Hematology

b2

. Microbiology
3. Biochemistry

4. Immunology
Options :
30169812361. 1
30169812362. 2
30169812363. 3
30169812364. 4

Question Number : 16 Question Id : 3016983109 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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30169812361. 1
30169812362. 2
30169812363. 3
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Question Number : 17 Question Id : 3016983110 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Immune marker for lactotroph adenoma is:

1. Growth hormone
2.B-TSH
3. Adrenocorticotropic hormone

4. Prolactin
Options :
30169812365. 1
30169812366. 2
30169812367. 3
30169812368. 4

Question Number : 17 Question Id : 3016983110 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

30169812365. 1
30169812366. 2
30169812367. 3
30169812368. 4

Question Number : 18 Question Id : 3016983111 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The great majority of HIV - infected individuals will over the course of vears, progress to AIDS.

The asymptomatic period typically lasts somewhere between years.
1.0=1
2l=2
3.2<10

4. 10 or more
Options :
30169812369. 1
30169812370. 2
30169812371.3



30169812372. 4

Question Number : 18 Question Id : 3016983111 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

30169812369. 1
30169812370. 2
30169812371. 3
30169812372. 4

Question Number : 19 Question Id : 3016983112 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-T with LIST-II.

LIST-I LIST-T1
A.|Gamma Rays L {1072 meters - 107! meters
B.|UV Rays II. |>107! meters
C. |Micro Waves III. | 1013 meters - 107! meters
D.|Radio Waves IV.| 10 meters - 1077 meters

Choose the correct answer from the options given below:

lLA-IIILB-IVC-1I,D-1I

| ]

A-ILB-LC-IV,D-III

L

A-LB-ILC-II,LD-IV

4 A-IILB-IV.C-II.LD-1I
Options :
30169812373. 1
30169812374. 2
30169812375. 3
30169812376. 4



Question Number : 19 Question Id : 3016983112 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4 A-IILB-IV.C-IILD-1
Options :
30169812373. 1
30169812374. 2
30169812375.3
30169812376. 4

Question Number : 20 Question Id : 3016983113 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A colorimeter (photometric) determination involves the measurement of colour in which region
of the electromagnetic spectrum?

. Infrared

| o]

. Ultraviolet

3. Visible

4. Microwave
Options :
30169812377. 1
30169812378. 2
30169812379. 3
30169812380. 4

Question Number : 20 Question Id : 3016983113 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Udh heRidieR (Biciidd) My § fagyd gl Wdaed & fhy &= 1 {1 ol 91g 2
87

A (STPIRS)
 QRI&TH! (3feerdigac)
. TgaH (fasildd)

[

]

L

4. G&H TR ([TEshIdd )
Options :
30169812377. 1
30169812378. 2
30169812379. 3
30169812380. 4

Question Number : 21 Question Id : 3016983114 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Read the following statements on Gram staining.

. Gram negative cells retain primary stain crystal violet because of thick peptidoglycan layer.

. Iodine is used as mordant in Gram stain to retain CV-I complexes formed.

. Safranin is the counter stain used.

. Gram negative cells allow crystal violet stain to wash out, on addition of ethanol due to thin
peptidoglycan laver.

E. Crystal violet is the counter stain used whereas safranin is the primary stain used in Gram

staining.

g 0 T w i

Choose the correct answer from the options given below:

1. A, B, Cand E only

-2

. C.D and E only
3.B. C and D only

4. A. B and C only
Options :
30169812381. 1
30169812382. 2
30169812383. 3
30169812384. 4

Question Number : 21 Question Id : 3016983114 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

30169812381. 1
30169812382. 2
30169812383. 3
30169812384. 4

Question Number : 22 Question Id : 3016983115 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The test to check whether a normal amount of protein is available or not for physiological
functioning is:

. Prothrombin time test
2. Bile acid breath test
3. Hydrogen breath test

4. D - Xylose tolerance test
Options :
30169812385. 1
30169812386. 2
30169812387. 3
30169812388. 4

Question Number : 22 Question Id : 3016983115 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



RIS SEYUTE & 78 UidH &1 I 361 3uds ¢ O1 9ol, 98 siia- & o e g:
L. T T Ui
TORT 3T T TRiaqoT

BT SIS Y Ti&m
4. S1-SIIS TS GigWIdT Ui&r

Options :

30169812385. 1
30169812386. 2
30169812387. 3
30169812388. 4

-2
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Question Number : 23 Question Id : 3016983116 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
During tissue processing, what is the correct sequence of steps?

1. Clearing, Dehydration, Infiltration

2. Dehydration, Infiltration, Clearing

ad

. Infiltration, Dehydration, Clearing

4. Dehydration, Clearing, Infiltration
Options :
30169812389. 1
30169812390. 2
30169812391. 3
30169812392. 4

Question Number : 23 Question Id : 3016983116 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fdd YHWHIU & SR, TR BT gl HhH F1E 2
1. Ww5, FISicihRur, Sfd:&ies

A EERICRURERRNCE ST

3. 3{d:"eH, oldidRul, TWas—

4. TSI T, TwsH, e

Options :

30169812389. 1
30169812390. 2
30169812391. 3

[}




30169812392. 4

Question Number : 24 Question Id : 3016983117 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Blood group A has the following:

1. A antigens on red blood cells and anti-B antibodies in the plasma

| ]

. B antigens on red blood cells and anti-A antibodies in the plasma
3. Both A and B antigens on red blood cells

4. Both anti-A and anti-B antibodies in the plasma
Options :
30169812393. 1
30169812394. 2
30169812395. 3
30169812396. 4

Question Number : 24 Question Id : 3016983117 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e g U gfaiad g

1. el Yo BIRBIS W T UL AR wiroar | Ol o tliaigiy
. Tl Yo DIRIBI37 UR ot UETei 3R e § Uel.Y Telars
3. Tel Xk DITABISH WR T 3Rl &1 TeTor

4. TS H UEL-U 3[R U4l g udtais iy

Options :

30169812393. 1
30169812394. 2
30169812395. 3
30169812396. 4

[~

Question Number : 25 Question Id : 3016983118 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the correct sequence of Meiosis L.

A. Pachytene
B. Diplotene
C. Leptotone
D. Diakinesis
E. Zygotene

Choose the correct answer from the options given below:

LG EABD
2.A,E,B,C,D
3.8 B, D BT

4.A,B,C,E,D
Options :
30169812397. 1
30169812398. 2
30169812399. 3
30169812400. 4

Question Number : 25 Question Id : 3016983118 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

31V 1 BT TG! 3IIhH o

A. UPh13dH
B. [3wiIdH

C. dPieH

D. SAfhARY
E. SIIETEH

- feu e e edt # 9 |el IR 91

1.C. BB D

]

ACE B 1
3.8, B, D, E €

4. 8B, CE,D
Options :
30169812397. 1
30169812398. 2
30169812399. 3
30169812400. 4



Question Number : 26 Question Id : 3016983119 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fig. shows a total hip prosthesis. The geometric parameters are:

{b)
Ll= 5mm, 2= 50 mm, 61 =45°062=290°,
A joint reaction force of F =400 N
1s acting at the femoral head due to body weight of the patient.
Determine the moment generated about point B, where cw and ccw are clockwise and counter
clockwise direction.

1. 14 Newton — meters (¢cw)

o]

. 34 Newton — meters (cw)
3. 14 Newton — meters (ccw)

4. 54 Newton — meters (ccw)
Options :
30169812401. 1
30169812402. 2
30169812403. 3
30169812404. 4

Question Number : 26 Question Id : 3016983119 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o $d Pog & UIRATRIY Dl <xiidl g1 ST 91Uds 39 UhR ¢:

(a)

{b)
L1=>5T0H 12 =50 T8, 01 =45, 62 =90°,
U = 400 N T Udh g Ufdfhar da

R & IR & dolH & DRI HHRE AN TR B IG5
fdg o & 3 Uy I YU BT (R0 B
ERE 98y, (cw) 3R 4. Fﬁ%@{ccu]ﬁaﬁﬁmﬁaﬂ?ﬁaﬁﬁﬂﬂﬁﬁmﬁﬁl

1. 14 Newton — meters (cw)

2. 34 Newton — meters (cw)
3. 14 Newton — meters (ccw)

4. 54 Newton — meters (ccw)
Options :
30169812401. 1
30169812402. 2
30169812403. 3
30169812404. 4

Question Number : 27 Question Id : 3016983120 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Medical Instruments assist medical personnel in disease diagnosis and treatment in a better way.
Arrange the correct sequence of an Instrumentation system.

A. Energy source

B. Signal processing
C. Display system
D. Measurment

E. Transducer/sensor

Choose the correct answer from the options given below:
1.ALE. DB C
2.A.D.E,B,C
L.E.RBA D,C

4. E.C,A,.B.D
Options :
30169812405. 1
30169812406. 2
30169812407. 3
30169812408. 4

Question Number : 27 Question Id : 3016983120 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

feferean 4 fafeer wial & dgdv adid U I HeH IR IUaR # Ygrdl &3d ol 4™
TUITell &1 Tal 3 d 1 1|

A, ol HId

B. Ford wrafE
c. feud Rieen

D. HIUA

E. CiUS I/ Hdad

A R e et # & wdt SR 97

bl o B B

1]

BB EBE

3.E.B,A,D,C

4. E.C,A,B.D
Options :
30169812405. 1
30169812406. 2
30169812407. 3
30169812408. 4



Question Number : 28 Question Id : 3016983121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which Hepatitis Virus belongs to Picornaviridae family?

[

. Hepatitis A Virus

| ]

. Hepatitis E Virus

L

. Hepatitis B Virus

4. Hepatitis D Virus
Options :
30169812409. 1
30169812410. 2
30169812411. 3
30169812412. 4

Question Number : 28 Question Id : 3016983121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I 91 gUCISicy 9ravy U HifaRs uRaR ¥ Heid g2
. PUCTEey U arRy
Ry g arRy
gUcrfcy o araRy
4. gUcIsiey S ary

Options :

30169812409. 1
30169812410. 2
30169812411. 3
30169812412. 4

—
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L]

Question Number : 29 Question Id : 3016983122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II.

LIST-I LIST-II
{Microbial pathogen) {Clinical Syndromes)
A. |Haemophilus aegyptius 7 iﬁf ;E;:SP s S
B. |Haemophilus influenzae II. | Preumonia
C. |Haemophilus ducreyi 1. | Conjunctivitis
D. | Haemophilus haemolyticus |IV. | Chancroid (STD)

Choose the correct answer from the options given below:

1LLA-ILB-IIILC-IV,D-1

b

A-ILB-TILC-I,D-1IV

ad

A-TMLB-LC-IV,D-1I

4 A-IIILB-II,C-IV.D -1
Options :
30169812413. 1
30169812414. 2
30169812415. 3
30169812416. 4

Question Number : 29 Question Id : 3016983122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 P Gy G111 B [HdH SIfIe:

. - -

A | el oforfvay 1. | BT 597 g 7 GHaur
B.| 1A o SR US IL. | &I

: PR LT
| erHif T 597 L R
D | giHifaw fedifalcey  |1v.| d@ras (Taels)
A feu U faswhedl § U 9gt 3R &l 999 Difoiu -

LA-ILB-III.LC-IV.D-1

[g]

AT B ATC T DIV

(5]

A-NMLB-LC-IV,D-1I

4 A-IILB-IIL,C-IV.D-1
Options :



30169812413. 1
30169812414. 2
30169812415. 3
30169812416. 4

Question Number : 30 Question Id : 3016983123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Read the following statements on sickle cell anaemia.

. It is a monogenetic disorder due to single base pair mutation in j — globin gene.

. It occurs due to substitution of amino acid valine from glutamic acid.

. It is a genetic disorder where a person is born with an extra copy of chromosome 21.

. It 1s an autosomal recessive genetic disorder that prevents the body from removing excess
copper and accumulates copper in body.

E. The point mutation in sickle cell Anaemia changes the codon from GAG to GUG.

g 0 Tl B

Choose the correct answer from the options given below:

1. A, B, Cand D only

-2

. A. B and E only
3.B.Dand E only

4. A.D and E only
Options :
30169812417. 1
30169812418. 2
30169812419. 3
30169812420. 4

Question Number : 30 Question Id : 3016983123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fd Ud T ¥ Ydfed Ugl HUH ugdnu |

A. T8 p — TdIidH SIH H Udhd &R el IARddT & HRUI Uh HHeHCH f[dhR B

B. I8 Teeliid U U UHHT URIS delis & Uiawd1o- & RO Bldl g |

C. 98 Udh AP fadR g forad Afdd 0 21 & HiaRad uiddid & 9y UeIgidigl

D. I Udh e d RERd {dRe fddR § Sl IRR &I 3fidRdd did &l ge I Add]
g 3R TRR  did] SH Sl g

E. dd 9 w1 § fdg 3aiadd @8 @ cac ¥ cuc H ded cdi gl

- feu e fasedt # ¥ |el IR I |
1.HadA, B, C 3R D
2. HAd A, B 3ARE
3. $adB, D AR E
4. HITA, D ARE

Options :

30169812417. 1
30169812418. 2
30169812419. 3
30169812420. 4

Question Number : 31 Question Id : 3016983124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Diarrhoea is caused by which of the following species?

. Enterobacter cloacae
2. Esterichia coli
3. Pemphigus vulgaris

4. Yersinia pestis
Options :
30169812421. 1
30169812422. 2
30169812423. 3
30169812424. 4

Question Number : 31 Question Id : 3016983124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



SR fFafcRad § 9 {69 USiia & SR I 82
. URITR Tl

 QRRI Bty
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4. i Uy

Options :

30169812421. 1
30169812422. 2
30169812423. 3
30169812424. 4

[—

| ]
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Question Number : 32 Question Id : 3016983125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Visualization of viral particles by Electron microscopy requires at least:

1. 10 to 107 Particles/ml

[

. 10% to 10* Particles/ml
3. 10° to 10° Particles/ml

4. 10™ to 1016 Particles/ml
Options :
30169812425. 1
30169812426. 2
30169812427. 3
30169812428. 4

Question Number : 32 Question Id : 3016983125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ZddTH HIShRGIU gRT AR HUI dl S B & fau d0 9 oF gfafad ol
Il gldl g

1. 10 9 102 DU/ HeTeleR
.10° 9 10* U/ AR
.10° 9 10° HUl/fAcdiciier
4. 1012 9 1016 HUficllelie”

Options :
30169812425. 1

1]

[F¥]



30169812426. 2
30169812427. 3
30169812428. 4

Question Number : 33 Question Id : 3016983126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tuberculosis is caused by which of the following organisms?

1. Treponema pallidum
2. Mycobacterium tuberculosis
3. Legionella pneumophila

4. Neisseria meningitidis
Options :
30169812429. 1
30169812430. 2
30169812431.3
30169812432. 4

Question Number : 33 Question Id : 3016983126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&R (T1 41 fafafad o 9 {6y Siid & SR gang?
1. 241 gfcisy

 HISHIGFINGT el
. [eifrgi-etr gaifter
4. F9RTT giETeESeisT

Options :

30169812429. 1
30169812430. 2
30169812431. 3
30169812432. 4

| ]
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Question Number : 34 Question Id : 3016983127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following Protozoa cause Liver infection?

. Entamoeba

[

. Trypanosome
3. Acanthamoeba

4. Trichomonas
Options :
30169812433. 1
30169812434.2
30169812435.3
30169812436. 4

Question Number : 34 Question Id : 3016983127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fafafad O 9 &9 91 uichsil s gdhd a0l ST HRUT §4dT 8?2
. U 3rHieT
g

-~

3. IHY3HIT

Options :

30169812433. 1
30169812434. 2
30169812435. 3
30169812436. 4
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Question Number : 35 Question Id : 3016983128 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following Streptococcus cells can kill mice?

l. Living rough R strain

[

. Heat killed smooth S strain

L

. Heat killed smooth S strain and living rough R stain combination

4. Heat killed rough R strain
Options :
30169812437. 1
30169812438. 2
30169812439. 3
30169812440. 4



Question Number : 35 Question Id : 3016983128 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frafafad # 9 o Al EriPieg SIS I8! &1 AR Tl 62
1. Siifdd ¥ 3R ¥

[g]

M Y WY T A
M AP Y T A AR Siidd 3% 3R WA BT iyl

4. 3T Y I AR A
Options :
30169812437. 1
30169812438. 2
30169812439. 3
30169812440. 4

[F¥]

Question Number : 36 Question Id : 3016983129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Four patients are treated with an intervention that is successful 90% of the time. What is the
probability of two successes?

1.0.0324

2

. 0.486

3.0.324

4. 0.0486
Options :
30169812441. 1
30169812442. 2
30169812443. 3
30169812444. 4

Question Number : 36 Question Id : 3016983129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



IR A BT IUER U HRIAT Y {6Ha1 S1d1 8 Sl 90 UIdd I6d gidl o | &l gBadisl &l
Ui dl ol g2

1.0.0324

b2

. 0.486
3.0.324

4. 0.0486
Options :
30169812441. 1
30169812442, 2
30169812443. 3
30169812444. 4

Question Number : 37 Question Id : 3016983130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements about chi-square probability density function.

A. They start at 0.

B. They are Symmetrical

C. They have a mean equal to their degree of freedom.
D. They have variance equal to degree of freedom

E. They have variance equal to 2 x degree of freedom.

Choose the correct answer from the options given below:

1. A, C and E only

b2

. A, B and D only
3. A.Band C only

4. A. C and B only
Options :
30169812445. 1
30169812446. 2
30169812447. 3
30169812448. 4

Question Number : 37 Question Id : 3016983130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@l -1 Ul dl 9 Hod & dR § Ygl dUd I |

A. d0YUYE T gl

B. d AT T

C. 3P ANd 3P| WaAdl I Ul & SRE o |
D. 3% UM WdAdl DI feUl & sReER YR g |

E. 3790 U 2 x WAl &l (891 & SR TR g |

i feu e fgsmedl # 9 |el IR I
1. bdd A, C 3RE
$Hdd A, B3RD

(]

3. dHdd A. B3R C
4. Hdd A, C 3R B

Options :

30169812445. 1
30169812446. 2
30169812447. 3
30169812448. 4

Question Number : 38 Question Id : 3016983131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Screening test has a sensitivity of 0.89 and a false-positive rate of 0.0]. The test isused in a
population that has a disease prevalence of 0.002. Given a positive result. find the probability of
having the disease.

1. 14.14%

]

. 15.14%

3.13.14%

4. 12.14%
Options :
30169812449. 1
30169812450. 2
30169812451. 3
30169812452. 4

Question Number : 38 Question Id : 3016983131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Uep Sitd U&7 H 0.89 1 YdaTierdl 2R 0.01 B STHIE FHRIHD &R gldll ¢ 1 TI&01 P
SUGNT 39 AEET H 61 ST g o S8R B U9R 0.002 A1 6| T SHRIHS UIE0T
RO ST SIH R I 8 DI ISl &1 9dl and |

1. 14.14%

-2

. 15.14%

3.13.14%

4.12.14%
Options :
30169812449. 1
30169812450. 2
30169812451. 3
30169812452. 4

Question Number : 39 Question Id : 3016983132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-I with LIST-II.

LIST-1 LIST-1I
. . Very Low Densi
A. [Increased p — Lipoproteins | L e
Lipoproteins

Increased P and Pre- Intermediate Density

= Lipoproteins L Lipoproteins
C.|Broad } —Lipoproteins III. | Low Density Lipoproteins
D Increased Pre p— v Low Density Lipoproteins

Lipoproteins and VLDL

Choose the correct answer from the options given below:
LA-IVB-ILC-IIILD-I
2A-IVB-IIILC-IILD -1
3.A-LB-IV,C-II,D-II

4. A-IIILB-IV.C-II.D-1
Options :
30169812453. 1
30169812454. 2
30169812455. 3
30169812456. 4

Question Number : 39 Question Id : 3016983132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 P Gy G111 B [HdH SIfIe:
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9¢ gUPp AR - p
faraTsie

IL. |Fegad! g Ta-fgmeE

C.|faxgd p -fermmici I11. | ®H Y-ed dTa feraiicia

.| %™ U ard fege=
D¢ GUHI BRI |IV.| o8 o & 1w

A fSu U famedl H 1 95t 3 &1 999 Difolu -

LA-IV,B-II,C-III,D-1

[

A-IVB-IIILC-IILLD-1I
3JA-LB-IV,C-IIILD-1I

4 A-IILLB-IV.C-IILD-1I
Options :
30169812453 1
30169812454. 2
30169812455. 3
30169812456. 4

Question Number : 40 Question Id : 3016983133 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Scheme for suspected malabsorption include which of the following?

A. A history of chronic Diarrhoea

B. Recent exposure to Hepatitis

C. Recent changes in color of stool.

D. Biochemical findings suggestive of undernutrition with no obvious cause.
E. History of weight loss.

Choose the correct answer from the options given below:

1. A. D andE only

]

. A, B and C only
3. B only

4. A only
Options :
30169812457. 1
30169812458.2



30169812459. 3
30169812460. 4

Question Number : 40 Question Id : 3016983133 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FgfRad ¥ U &1 U &y Ui U=y &1 Udhd ad g 2

A. SRAI BT AT 38

B. gUeI3iey & giferdr ¥ud |

C. gid gl H 7a & 31§ uRadA

D. Sld IS fAHY fa-1 fdd! TP BRI & HUIY BT Hdod ad o
E. 99 9T &1 3ideM |

-4 feu MU fasel # 9 |gt IR |
1.Pad A, D 3RE
2. HIAA, B3R C
3. P4 B
4. HIA A

Options :

30169812457. 1
30169812458. 2
30169812459. 3
30169812460. 4

Question Number : 41 Question Id : 3016983134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following Marker is increased in patient with Ovarian Cancer?

1.CA15-3

2.CA-125

L

.CA19-9

4, Protein S100 B
Options :
30169812461. 1
30169812462. 2
30169812463. 3
30169812464. 4

Question Number : 41 Question Id : 3016983134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

SR & HIR & W H Fgfeiad 4 ¥ feyg ardhe d gfg gidl 82
.9 15-3

T - 125

T 19-9

4. U T 100 &

Options :

30169812461. 1
30169812462. 2
30169812463. 3
30169812464. 4
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Question Number : 42 Question Id : 3016983135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the correct sequence of glycolysis pathway.

A. Triose Phosphates

B. Phosphoenolpyruvate
C. Hexose Phosphates
D. 2-Phosphoglycerate
E. Pyruvate

Choose the correct answer from the options given below:

1. AC, D, B E

b2

.C,D,A,B,E

3. DB A E

4.C,A,D,B,E
Options :
30169812465. 1
30169812466. 2
30169812467. 3
30169812468. 4

Question Number : 42 Question Id : 3016983135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FEfRad B TWShIARy Uy & Tl 3Hd | i

A. TN BIEhe

B. BIRGITARIUREEdC
C. g BIEhe

D. 2-BIEhIfTeaRe

E. Ulg=dc

i fqu e g edl # U wel IR |

1. 8.C BB, E

]

.C,D.A.B,E
3.0, 0. 8,4 B

4. C, A DB, E
Options :
30169812465. 1
30169812466. 2
30169812467. 3
30169812468. 4

Question Number : 43 Question Id : 3016983136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which bone is responsible for holding eye orbit?

l. Parietal bone

2. Temporal Bones

Lad

. Occipital Bones

4. Frontal Bone
Options :
30169812469. 1
30169812470. 2
30169812471. 3
30169812472. 4

Question Number : 43 Question Id : 3016983136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



I i 3R AT B DI YR DRl g 2
3. Sfagifuee &y
4. Thed Y

Options :

30169812469. 1
30169812470. 2
30169812471. 3
30169812472. 4

—

]

Question Number : 44 Question Id : 3016983137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the source of Gastric juice?

1. Duodenum

[

. Stomach
3. Kidney

4. Small intestine
Options :
30169812473. 1
30169812474.2
30169812475. 3
30169812476. 4

Question Number : 44 Question Id : 3016983137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T oY &I Hid 1 g2
1. 3

SHHRIY

R
4. BT 3Mid

Options :

30169812473. 1
30169812474. 2
30169812475. 3

-2

L 8]



30169812476. 4

Question Number : 45 Question Id : 3016983138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-I with LIST-II.

LIST-I LIST-II
(Pathogen) (Detection methods)

Enzyme-linked
immunosorbents Assay
A |Legionella I. |(ELISA) or enzyme
immunoassay (EIA) for
detection of P - 24

Cartridge based nucleic
B. [HIV II. | acid amplification test
(CBNAAT) gene Xpert

C. | Myveobacterium IT1. | Urinary antigen test

Widal test for antibody
D. |Salmonella nyphi IV. | against both O and H
antigens

Choose the correct answer from the options given below:
LA-ILB-IILLC-I,D-1IV
2A-LB-IV.C-IIIL,D-II
3JJA-IVB-IIILC-IILD-I

4 A-IIILB-LC-II,D-1IV
Options :
30169812477. 1
30169812478. 2
30169812479. 3
30169812480. 4

Question Number : 45 Question Id : 3016983138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 P Gy G111 B [HdH SIfIe:

-1 -ﬁ?g;;ﬁﬂ;)

Ul-24 &1 91 14 & [0

Ualgy-fiies AN
A | efiforaier I . <
U3 (ELISA) U1 UGS H

I (EIA)
Prica SuTkd fdad
B.|T=ramsdt II. | UfTS yasH odiegom

(CBNAAT) SiiH Xpert

c|arswiaFiigg IIT. | T3 Wifcor geiemn

3l 3R T g Uterl &
D.| Sewi=er ezl Iv. |fdos Udtarsl & ferw
fasTa wiiem

A TGU U fashedl H U 98t 3R &l 99 Difolu -

LA-ILB-III.C-LD-IV

22A-LB-IV.C-III.D-II
3JA-IVB-IIILC-IILD -1

4 A-IMMLB-LC-II,D-IV
Options :
30169812477. 1
30169812478. 2
30169812479. 3
30169812480. 4

Question Number : 46 Question Id : 3016983139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Read the following statements.

A. Prions are inactivated by steam autoclaving at = 121°C after treatment with 1M NaOH.
B. Prions contain genetic materials DNA or RNA.

C. Prions are extremely resistant to conventional disinfection and sterilization methods.

D. Prion infection do not elicit any detectable specific humoral or cellular immune response.

Choose the correct answer from the options given below:

1. A CandD only

| ]

.A. B and D only

LS

.B. C and D only

4. A. B and C only
Options :
30169812481. 1
30169812482.2
30169812483. 3
30169812484. 4

Question Number : 46 Question Id : 3016983139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 & aR ¥ gfcfad oy=l o1 ug|

A. IM Néa(}ﬂ%lqw TR & 916G > 121°C TR HIY HTeidiidT gRT fUdH &l (Aissy fdar
EIGIN

B. e o 34 uard SITAu a1 SRTAT gl B

c. T3 IRURS SRy iR Feffiaor faltdl & fau sge ufcrid g1

D. fgﬁﬂ”ﬁwwwﬁwm SR 1 UeleR YicRal Uididhdr ol Udhe Tel Sl
|
i feu e fadmedl § 9 0134 & SR O g1 SR I |
|.Had A, C AR D
2. $hdd A, B IR D
3. $Hdd B, C AR D

4. dAd A, B3R C
Options :
30169812481. 1
30169812482. 2
30169812483. 3
30169812484. 4



Question Number : 47 Question Id : 3016983140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wild type (W=+) allele in Drosophila shows phenotype for eye colour.

1. Blood
2. Cherry
3. Red eye

4. Buft
Options :
30169812485. 1
30169812486. 2
30169812487. 3
30169812488. 4

Question Number : 47 Question Id : 3016983140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sl 1 diges 22U (W+) Udld 3@l & T [du SIF Il ke feard g2
1. 3ad
2. I

3. dId 31

4. 9%
Options :
30169812485. 1
30169812486. 2
30169812487. 3
30169812488. 4

Question Number : 48 Question Id : 3016983141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Random error associated with sampling and randomization are effectively addressed by
confidence and hypothesis tests. These methods fail to address systematic errors. Systematic
errors come in which of the following forms?

A. Confounding bias
B. Information bias
C. Selection bias

D. Direction bias

E. Random bias

Choose the correct answer from the options given below:

l.A. CandD only

|

.A. B and C only
3.A.CandE only

4. B. C and E only
Options :
30169812489. 1
30169812490. 2
30169812491. 3
30169812492. 4

Question Number : 48 Question Id : 3016983141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TAIHRU 3R TEfEH D H et Aefadd I bl AGYN 3R GRS TR0l gRI
THTdT S ¥ Yelfed fdhar Sirdr g1 3 fafeat orafyd 3l o1 R &3 1§ f[ahd Igdi B
orafeyd Ffeal Fgfaiad O 9 fog Eu b ei1di €2

A. YFHd B arer gafug

B. W‘E’fﬂﬁ

ERAESIEE

D. ﬁ??ﬂ‘l?lfﬂ_s’

E. eiwod qdiug
-4 feu MU fasel & 9 |gl IR |

1. Hdd A, C 3R D

2. Hdd A, B AR C

3. Hdd A, C IRE

4. Hdd B, C ARE

Options :
30169812489. 1




30169812490. 2
30169812491. 3
30169812492. 4

Question Number : 49 Question Id : 3016983142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fig. shows repeated glucose measurement for a Single sample. Choose the correct findings from
the following statements.

1208 3
e = o
9 g oﬂuo oo True
S| PP ISl CYXXT s
Elﬂo ag 2 og0
=
- s o e e T T
A B c

A. Instrument A 1s precise and unbiased.
B. Instrument B is precise and biased.
C. Instrument B has a positive bias.

D. Instrument C has only positive bias.
E. Instrument C is unbiased.

Choose the correct answer from the options given below:

1. B, C and D only
2. A. D and E only
3. A.Band C only

4. B, C, D and E only
Options :
30169812493. 1
30169812494. 2
30169812495. 3
30169812496. 4

Question Number : 49 Question Id : 3016983142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



mwﬁﬁa Udhd 99 H 9R-9R fhU 70 b s 919 & <2iid g | Hafafad oyl 4 9 gl
[ g |

1208 3
Sy
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A. JUE T TG 3R A& T

B. SUBUI &I el 3R &Il 3

C. 3B §I' H Uh YHRIHD Y&l o |
D. U0 Ul H hdel YHRIHD U&UTdl g
E. 3UH 4 e

i few TTe ool 7 9 |Et SR |
1.$ddB, C AR D
2. HIdA, D 3R E
3. PdA A, B3R C
4. $dd B, C,D 3R E

Options :

30169812493. 1
30169812494. 2
30169812495. 3
30169812496. 4

Question Number : 50 Question Id : 3016983143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Some study on human pregnancies were conducted and it is found that, human pregnancies have
a gestation period that is approximately normal with p = 39 weeks and ¢ = 2 weeks. What is the
z-score for a pregnancy that lasts 36 weeks?

S

| ]

o

3.-1.14

4. +1.14
Options :
30169812497. 1
30169812498. 2
30169812499. 3
30169812500. 4



Question Number : 50 Question Id : 3016983143 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A THYR TR 30 fhdl 71 3R I8 9ral 11 fh Jd THYRU & THERT 3afe
CHTHIT UTHT Bl 8 Sl w = 39 T 3R ¢ = 2 W Bidl © | 36 KIg ddb dei dlall
THITRIT & ol SIS-ThR 34T 82

1.-1.5

.+1.5

[R]

3.-1.14

4.+1.14
Options :
30169812497. 1
30169812498. 2
30169812499. 3
30169812500. 4

Question Number : 51 Question Id : 3016983144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the approximate incubation period in procedure of Widal Test for testing typhoid?

1. 15 min at 37°C

-2

. 30 min at 37°C
3. 60 min at 35°C

4. 30 min at 35°C
Options :
30169812501. 1
30169812502. 2
30169812503. 3
30169812504. 4

Question Number : 51 Question Id : 3016983144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CRhIES & URIU o (o1U [dSTe 3% &1 Uidhdl & fe1U 1T S /A 3fafe o1 g2
1. 15AC 37°c R
30fHAC 37°c R

(g

3. 60 fFC 35°Cc R

4.30 fHC 35°c W



Options :

30169812501. 1
30169812502. 2
30169812503. 3
30169812504. 4

Question Number : 52 Question Id : 3016983145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The tissue graft which is donated by genetically identical person is known as:

. Autograft

(]

. Isograft

L

. Allograft

4. Xenograft
Options :
30169812505. 1
30169812506. 2
30169812507. 3
30169812508. 4

Question Number : 52 Question Id : 3016983145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sdd UG Sl 3dR1e FU I FHH Al gRI I a1 71 g, 3 o1 gl Idl g 2
1. IR

BT ERei 1o
Ude
4. SRR

Options :

30169812505. 1
30169812506. 2
30169812507. 3
30169812508. 4

[

L]

Question Number : 53 Question Id : 3016983146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the sequence of Haemorrhagic transformation after Ischemic changes in brain.

A. Clot travels to brain

B. Increase blood pressure

C. Formation of blood clot in blood vessels
D. Brain cell lysis starts

E. Rupture of blood vessels

Choose the correct answer from the options given below:

1.C,A,D,B.E

t-2

.E,D,C,B,A
3E, DB AC

4. E,C,D,A,B
Options :
30169812509. 1
30169812510. 2
30169812511. 3
30169812512. 4

Question Number : 53 Question Id : 3016983146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aikrss | siaffe yRad-l & 96 Waadrdl URdd- &1 HH gdil|

A. 4gh &l HIRETD DI 3R Sl

B. 3G & dgHl

C. I aligH13Mt H Iad & Yad &l HHI0
D. AT HIRHT ATHeH BT ARH gl
E. Yo dIfg 13 &1 gl

-4 feu MU fasel # 9 |gt IR |

LECADB.E

[

.E.D.C.B.A
3LED.B;AC

4. E.C,D,A'B
Options :
30169812509. 1
30169812510. 2
30169812511. 3
30169812512. 4



Question Number : 54 Question Id : 3016983147 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following hormone is produced by Cortex of adrenal gland ?

1. Norepinephirine

b2

. Glucocorticoids

Lad

. Epinephrine

4. Catecholamine
Options :
30169812513. 1
30169812514. 2
30169812515.3
30169812516. 4

Question Number : 54 Question Id : 3016983147 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FafaRad O O &F 91 g stftgdd Ui & HIca gRI SdlGd Bidl 82
AREfUHRA

TTDIDIChIZTH

3. UHMTEA

4. HpId3A

Options :

30169812513. 1
30169812514. 2
30169812515. 3
30169812516. 4

—

[

Question Number : 55 Question Id : 3016983148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Body movements occur when muscles contract across joints. The skeletal muscle activity in our
body holds true for which of the following statements?

A. With a few exceptions, all skeletal muscles cross at least one joint.

B. Skeletal muscles can only push: they never pull.

C. During contraction, a skeletal muscle insertion moves towards the origin.

D. Typically, the bulk of a skeletal muscle lies proximal to the joint crossed.

E. All skeletal muscles have at least two attachments, the origin and the insertion.

Choose the correct answer from the options given below:

1. A, Cand D only

B

A.B,C,Dand E
3.A.C.D andE only

4. A. B and E only
Options :
30169812517. 1
30169812518. 2
30169812519. 3
30169812520. 4

Question Number : 55 Question Id : 3016983148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YRR H 7ifafafd a9 gidl g sid Siel & 9 4 giguimi fgedl §1 gUR IRR d ddbrd ol
qigutREf i iafate FafaRad | 9 o ool & [T 98 g

A. TS 3Udrel & 9y, Gl hbld &1 AURE $1 Y $H Udb SIS 6l IR Bl ¢
B. I D HIHURMAT Hdd 4dbI ¢ Ydbdl g: d HH Diddl T8 g

C. Ydd & GRM. U Dhehlel TIYUREGT ST Gt Id Hi 3R dgdl §

D. 3 AR R, hpId DI HIGURE! BT 931 fgR UR {HU U Sis & Hdhe gidr gl
E. g4l dobTd bl AURRT H &9 9 &Y gl Yadd gid g, 5o SR i |

i fqu e g edt # U Hel IR 9|
|.Had A, C AR D
2. $HIA A, B,C,D AR E
3.$dd A, C,D 3RE
4. HId A, B3URE

Options :

30169812517. 1
30169812518. 2
30169812519. 3




30169812520. 4

Question Number : 56 Question Id : 3016983149 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An average cardiac output of an adult is:

1. 5300 ml/min

o]
n
]
h
=
o
=
=
::..
=
=1
=
B

3. 5200 ml/min

4, 5350 ml/min
Options :
30169812521. 1
30169812522.2
30169812523. 3
30169812524. 4

Question Number : 56 Question Id : 3016983149 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Udh 90 & 3M9d gey frin Fafafad g

1. 5300 ml/min

]

. 5250 ml/min

3. 5200 ml/min

4. 5350 ml/min
Options :
30169812521. 1
30169812522.2
30169812523.3
30169812524. 4

Question Number : 57 Question Id : 3016983150 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the sequential operation of AV valves:

A. Atria contract, forcing additional blood into ventricles.

B. Chordae tendinae tighten, preventing valve flaps from entering into atria.

C. Ventricles contract, forcing blood against AV valve flaps.

D. Blood returning to the atria puts pressure against AV valves, and valves are forced open.
E. AV valves flaps hang limply into ventricles.

Choose the correct answer from the options given below:

1.D,E,C,A,B

]

.D,E,A,C,B
3D E B CA

4.D.E.C.B.A
Options :
30169812525. 1
30169812526. 2
30169812527. 3
30169812528. 4

Question Number : 57 Question Id : 3016983150 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U. dl. dlcd D1 HiHS YdTeH §dld

A. U Yopd U dfidha H 3{fdRdd ad & UdIg &I &1 $HRal gl

B. s ¢fe- HU SIld . S dled Tld &l T § UdR - YABI ¢ |

c. 3fedhd RIpsd ¢, U 1. dIcd iU & % 3ad Uaig &l 918 R 3

Dgiijmﬁcﬂdri dTdll Yo U. d1. dTed & (3% Ga1d STeidl 8. 31R dicd @l 918 Tidl STl
|

E. U. d1. 9lcd WY RIfYedr ¥ dicdd 1 dedhd g

2 e T faepedt 4 9l SR

I.DE, C, A B

-2

D EAC.B

L E]

JLE B, O X

4.D,E.C.B,A
Options :
30169812525. 1
30169812526. 2
30169812527. 3
30169812528. 4



Question Number : 58 Question Id : 3016983151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following important nerves originate from brachial plexus?

A. Radial

B. Obturator
C. Phrenic
D. Median
E. Ulnar

Choose the correct answer from the options given below:

1. A.D and E only
2. A, Cand D only
3.A.CandE only

4. A. B and C only
Options :
30169812529. 1
30169812530. 2
30169812531. 3
30169812532. 4

Question Number : 58 Question Id : 3016983151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 Gl Tedqui diAd1U ¢ Sl sifd 31l widdd § 3 gidl g2

A fSTd

B. 3[R

C. iHd

D. Hifggq

E. 3R
i feu U fadeni & 9 |gl IR |

1. $dd A, D IRE
$HAd A, C3RD

3. Hdd A. C 3R E

]

4. HAd A, B3R C
Options :
30169812529. 1
30169812530. 2



30169812531. 3
30169812532 4

Question Number : 59 Question Id : 3016983152 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A blood specimen collected in a heparinized tube is centrifuged. It will separate into :

1. plasma, buffy coat, RBC

b2

. Serum and Clot
3. Plasma and Clot

4. Plasma and Serum
Options :
30169812533. 1
30169812534.2
30169812535.3
30169812536. 4

Question Number : 59 Question Id : 3016983152 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Udh gURAISSS od H Ul [hU U Iad & 1 Bl 3(Ubicd fhdl Sidl g1 U8 Hafeiaa o
Y gl SITu -

1. WISHT, %1 die, R & i
2. URH AR UgdH]

3. TATGH] 3R Ygdhl
4. TATSHT 3R IRH

Options :

30169812533. 1
30169812534. 2
30169812535.3
30169812536. 4

Question Number : 60 Question Id : 3016983153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the sequence of erythroid series.

A. Basophilic erythroblast

B. Polychromatic erythroblast
C. Reticulocyte

D. Proerythroblast

E. Orthochromatic erythroblast

Choose the correct answer from the options given below:

1.D,A,B.E,C

]

D, B,ACE
3: DB

4.D.A.E.B.C
Options :
30169812537. 1
30169812538. 2
30169812539. 3
30169812540. 4

Question Number : 60 Question Id : 3016983153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
URYTERTZS 47dl I IHH JdTl|
A. §3Ifthfere TRTsRe
B. UlciicpiHfcd TRyTse
c. fegerarge
D. WG
E. 3T TRYTsRe

-4 feu U fadeni & 9 |gl IR |

L.DBu& B E £

b2

DB ACE

3. DA B CE

4.D,AE,B,C
Options :
30169812537. 1
30169812538. 2
30169812539. 3
30169812540. 4



Question Number : 61 Question Id : 3016983154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
To perform agglutination, by what the specimens are to be treated before testing?

. Latex solution
2. EDTA
3. Concentrated HCI|

4. Sodium Chloride Solution
Options :
30169812541. 1
30169812542.2
30169812543. 3
30169812544. 4

Question Number : 61 Question Id : 3016983154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3QfeEH () B & fag, THem ¥ Ugd T4 &1 {69 U ITaR 61 ordT g2
1. deay faeaH

33Idu
. gifgd T8 Ud
4. 9399 TR S f[dagq

Options :

30169812541. 1
30169812542. 2
30169812543. 3
30169812544. 4

[

L

Question Number : 62 Question Id : 3016983155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which 1s the last destination vein for venous blood?

1. Renal Vein

2

. Cortical Radiate Vein

. Arcuate Vein

L

4. Interlobar Vein
Options :
30169812545. 1



30169812546. 2
30169812547. 3
30169812548. 4

Question Number : 62 Question Id : 3016983155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

RIRTIR® Yad & fow 3ifaq e BRT () S 82
1. 3H9d [ART

I~

BIcHd I3ue BRI
. HIRjue BRI
4. SeXdla’ FBRT

Options :

30169812545. 1
30169812546. 2
30169812547. 3
30169812548. 4

L]

Question Number : 63 Question Id : 3016983156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A child has 20 deciduous teeth. Two of her teeth are decaved. Given that this is all that yvou
currently know about the child’s dentition, choose from the options that the possible
combinations of decayed teeth she might have?

1.10

b2

. 380

3. 180

4. 190
Options :
30169812549. 1
30169812550. 2
30169812551. 3
30169812552. 4

Question Number : 63 Question Id : 3016983156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



U o= & 20 Gofurdi gid §139 &l &id ¥ gU g1 U8 owdd gu [ ddaM § 31U o= &b
cidl & aR W 1 81 SiHd 8, 39d UMY Us gu cidl & duIfdd Yo & fadhetl &l g -

1. 10

]

. 380
3. 180

4. 190
Options :
30169812549. 1
30169812550. 2
30169812551. 3
30169812552. 4

Question Number : 64 Question Id : 3016983157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A study of 50 individuals found mean systolic blood pressure ¥= 124.6 mm Hg with sample
standard deviation S = 10.3 mm Hg.

Find the no. of individuals needed to reduce the standard error of the mean to 1 mm Hg.

1. 54

b2
L/}
—

3. 107

4. 106
Options :
30169812553. 1
30169812554. 2
30169812555. 3
30169812556. 4

Question Number : 64 Question Id : 3016983157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

50 ATl & T ea- T 3G Feiicie Iad=d Ul T4 5 = 124.6 mm Hg 3R Gl
O fdddd S=10.3 mm Hg |
A &1 TP [ BT 1 mm He Tb HH DR D AU A0S Alkid! B HEAT J1d DL

1. 54

]
A
—

3. 107

4. 106



Options :

30169812553. 1
30169812554. 2
30169812555. 3
30169812556. 4

Question Number : 65 Question Id : 3016983158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The daily BMR (basal metabolic rate) in kilocalories for males based on the Harris — Benedict
equation is given by:

1.(655.1+9.6 W+ 1.9 H - 4.7 A) = activity factor » injury factor

[

.(66.5+13.8 W+ 5.0H - 6.8 A) = activity factor = injury factor
3.(66.5+ 148 W+ 5.0H - 6.8 A) x activity factor x injury factor

4.(66.5+ 148 W+ 1.9H -4.7 A) = activity factor = injury factor
Options :
30169812557. 1
30169812558. 2
30169812559. 3
30169812560. 4

Question Number : 65 Question Id : 3016983158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SRy d-fSae GHIHRU & YR W GEY| & U fhaibax] H ¢f-d . U1, 3R, (&9d
U9 &) 39 UHR &1 oiidl g

(655.1+9.6 W+ 1.9H-4.7A) = Gihddl RS x &fd dRE

[

]

(66.5+13.8W+5.0H-6.8A) x JIhTd PR x &fd HRD

(66.5+ 148 W+5.0H-6.8A) = ihddl R x &fd IR

Tl

4.(66.5+ 148 W+ 1.9H-4.7A) x GihTdl PR x &fd IR
Options :
30169812557. 1
30169812558. 2
30169812559. 3
30169812560. 4

Question Number : 66 Question Id : 3016983159 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The autoantibody associated with Hashimoto’s disease is:

1. Thyroglobulin

]

. TSH Receptor

L

. Myelin Basic Protein

4. Intrinsic Factors
Options :
30169812561. 1
30169812562. 2
30169812563. 3
30169812564. 4

Question Number : 66 Question Id : 3016983159 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IR T S37 Hletiearst g:
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Options :

30169812561. 1
30169812562. 2
30169812563. 3
30169812564. 4

—
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Question Number : 67 Question Id : 3016983160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Defect on genes encoding complement system components as CFH, C,, C3 and CFB causes

which of the following disorder?

1. MBL deficiency

]

. Age-related macular degeneration

Lad

. Paroxysmal nocturnal haemoglobinuria

4. Hereditary angioedema
Options :
30169812565. 1
30169812566. 2
30169812567. 3



30169812568. 4

Question Number : 67 Question Id : 3016983160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CFH, C,, C3 3R CFB & ¥U 1 S T-HIfST [Reh YUlTeil Ui W N FafaiRad o 9 fog
[dHR BT HRUT ST g 2

 UH T B HHI

Y e ApaR 3 T
RIfesd Aldedd gErategRan
L3 R

Options :

30169812565. 1
30169812566. 2
30169812567. 3
30169812568. 4
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Question Number : 68 Question Id : 3016983161 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How much time it takes to manifest chronic rejection of transplant? Choose from the following
options.

. Immediately

| o]

. Within Minutes
3. Days to one week

4. Months or years
Options :
30169812569. 1
30169812570. 2
30169812571. 3
30169812572. 4

Question Number : 68 Question Id : 3016983161 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AR &l FRBIfcD 3RdIpid & e drd d fba=1 9y avidl g2 [Hafaidd fddbedl d
g
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Options :

30169812569. 1
30169812570. 2
30169812571. 3
30169812572. 4

[E]

L

Question Number : 69 Question Id : 3016983162 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Choose the antigenic component of the viral infection Hepatitis B from the following options.

l. Alum-adsorbed inactivated Hepatitis B surface antigen

-

2. Alum-adsorbed recombinant Hepatitis B surface antigen

. Inactivated trivalent WHO- recommended strains

Lad

4. Attenuated trivalent WHO- recommended strains
Options :
30169812573. 1
30169812574.2
30169812575.3
30169812576. 4

Question Number : 69 Question Id : 3016983162 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FafaRad famedl O ¥ I/ YhHv gUersied &l & Uidulidd ged &l 9 1|
1. flhehdl-sianivd fAfshy guersfey o ¥dg ufaeH

[eddl-sauitd g+ daisie guersiey |l gdg ulde-

Options :

30169812573. 1
30169812574. 2

[



30169812575. 3
30169812576. 4

Question Number : 70 Question Id : 3016983163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HPV is responsible mainly for:

. Ovarian Cancer

b2

. Prostate Cancer
3. Liver Cancer

4, Cervical Cancer
Options :
30169812577. 1
30169812578. 2
30169812579. 3
30169812580. 4

Question Number : 70 Question Id : 3016983163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ug Ul dl g8 =4 9 fgdh ol 3wRard g2
1. ST BT HIR
4. YT a1 R

Options :

30169812577. 1
30169812578. 2
30169812579. 3
30169812580. 4

[

T

Question Number : 71 Question Id : 3016983164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following has fanglike shape?

1. Canines

[

. Incisors
3. Premolars

4. Molars
Options :
30169812581. 1
30169812582. 2
30169812583. 3
30169812584. 4

Question Number : 71 Question Id : 3016983164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Froforad & U ford &1 SMHR fawew (@ o) g 82
RIS

SRR

3. HATeR

4. HITR

Options :

30169812581. 1
30169812582. 2
30169812583. 3
30169812584. 4

[—

]

Question Number : 72 Question Id : 3016983165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following does not lead to to genetic manipulation of DNA?

l. Recombination

[

. Replication

Lad

. Transcription

4. Supercoiling
Options :
30169812585. 1
30169812586. 2
30169812587. 3
30169812588. 4



Question Number : 72 Question Id : 3016983165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFrafefad 7 9 f6ay 31, T, U # 3i1Jdfie g3 181 gldi g2
OIS (RpIHEM)

R IREARREREUSIG ARG

3. UfdeRaT (@)

—

Options :

30169812585. 1
30169812586. 2
30169812587. 3
30169812588. 4
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Question Number : 73 Question Id : 3016983166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A stable conformation for DNA 1n a solution 1s:

[

10.5 base pair/turn

| ]

. 9.5 base pair/turn

L

. 10.0 base pair/turn

4. 8.0 base pair/turn
Options :
30169812589. 1
30169812590. 2
30169812591. 3
30169812592. 4

Question Number : 73 Question Id : 3016983166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faera # 1 T U S forg U RR Tar g2
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Options :

30169812589. 1
30169812590. 2
30169812591. 3
30169812592. 4

Question Number : 74 Question Id : 3016983167 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance between adjacent nucleotides in DNA is:

[.0.15 nm

(]

.0.34 nm
3.30A

4.314A
Options :
30169812593. 1
30169812594. 2
30169812595. 3
30169812596. 4

Question Number : 74 Question Id : 3016983167 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

31 09 U Fdveadl Ffacaierzad & did &1 g3 §;

[.0.15 nm

-2

.0.34 nm
3.3.0A

4.3.1A
Options :
30169812593. 1
30169812594. 2
30169812595. 3
30169812596. 4

Question Number : 75 Question Id : 3016983168 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II.

LIST-I LIST-II
A |Franklin Stahl I. |p-form of DNA
B. | Maurice Wilkius I Estimated absolute amount

of each Base

Proposed two

C.|Erwin Chargaff I1I. . ;
£ polynucleotide chain

Individual strands of
D. | Watson and Crick IV. | Duplexes are entirely
heavy or light

Choose the correct answer from the options given below:
LA-IVB-ILC-III.D-I

2A-IVB-ILC-1,D-1III

ad

A-ILB-TILC-1I,D-1IV

4 A-IVB-1LC-II,D-1II
Options :
30169812597. 1
30169812598. 2
30169812599. 3
30169812600. 4

Question Number : 75 Question Id : 3016983168 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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i feu U fasmedi # U I8t 3 &1 99 Difold -

LA-IV,B-I,C-III, D - I

2A-IVB-ILLC-I,D-III

3JA-IILB-IILC-LD-IV

4 A-IVB-LC-IILD-1III

Options :

30169812597. 1
30169812598. 2
30169812599. 3
30169812600. 4




